

## Generalizations of Simpson's Type Inequalities Through Preinvexity and Prequasiinvexity

Sabir Hussain,  
Department of Mathematics,  
College of Science, Qassim University,  
P. O. Box 6644, Buraydah 51482, Saudi Arabia.  
Email: sabiriub@yahoo.com; sh.hussain@qu.edu.sa

Shahid Qaisar,  
College of Mathematics and Statistics,  
Chongqing Chongqing University, Chongqing, 401331, P. R. China.  
Present address: Department of Mathematics,  
COMSATS institute of information technology,  
Sahiwal, Pakistan.  
Email: shahidqaisar90@yahoo.com

**Abstract.** We establish some new inequalities of Simpson's type for differentiable mappings whose third derivatives in absolute values are preinvex and prequasiinvex. These give us new estimates which are better than already presented results.

**AMS (MOS) Subject Classification Codes:** 26D15; 26D10.

**Key Words:** Simpson's inequality, Preinvex function, Holder's integral inequality, Power mean inequality.

### 1. INTRODUCTION

Simpson's inequality states as: If  $f : [a, b] \rightarrow \mathbb{R}$  be a four times continuously differentiable mapping on  $(a, b)$  and  $\|f^{(4)}\|_{\infty} = \sup_{x \in (a,b)} |f^{(4)}(x)| < \infty$ . Then:

$$\left| \frac{1}{3} \left[ \frac{f(a) + f(b)}{2} + 2f\left(\frac{a+b}{2}\right) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{1}{2880} \|f^{(4)}\|_{\infty} (b-a)^4.$$

In [1-2], [4-5], [7], [10], [16] and [18], authors refined and generalized Simpson's type inequality.

For the definition of invex set, reader is refer to [20].  $K$  is invex set with respect to  $\eta$ , if it is invex for all  $x \in K$ . The invex set  $K$  is  $\eta$ -connected set as well.

Every convex set is invex set with respect to  $\eta(y, x) = y - x$  [3], but not conversely.

The function  $f$  on the invex set  $K$  is called preinvex [20] with respect to function  $\eta$ , if

$$f(x + t\eta(y, x)) \leq (1-t)f(x) + tf(y), \forall x, y \in K, t \in [0, 1].$$

The function  $f$  is called preconcave if and only if  $-f$  is preinvex.

In [20-21], authors showed that every convex function is preinvex but not conversely (see for instance [21]).

The function  $f$  on the invex set  $K$  is said to be prequasiinvex [11] with respect to  $\eta$ , if

$$f(x + t\eta(y, x)) \leq \max\{f(x), f(y)\}, \forall x, y \in K, t \in [0, 1].$$

In [22], author showed that prequasiinvex function is the generalization of quasi-convex function.

Recently, many mathematicians generalized the classical convexity. One can refer to [20] and [6], [8], [13-15], [21] and [23]. Hanson [8] significantly generalized the convex function by introducing invex functions. As a special case of invexity, Ben-Israel and Mond [6] presented preinvex function. As a generalization of invex function, Pini[15], presented prequasiinvex functions.

The purpose of this manuscript is to establish some new simpson's type inequalities for the class of functions whose third derivatives in absolute values are preinvex and prequasiinvex.

## 2. MAIN RESULTS

We begin with the following Lemma.

**Lemma 1.** *Let  $K \subseteq [0, \infty)$  be an open invex subset with respect to  $\eta : K \times K \rightarrow \mathbb{R}$  with  $a, b \in K$  and  $a < a + \eta(b, a)$ . Suppose  $f : K \rightarrow \mathbb{R}$  be an absolutely continuous mapping on  $K$  such that  $f''' \in L([a, a + \eta(b, a)])$ . If  $|f'''|$  is preinvex on  $K$ , then for every  $a, b \in K$  with  $\eta(b, a) \neq 0$ , we have*

$$\left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \leq (\eta(b,a))^4 \int_0^1 p(\lambda) f'''(a + \lambda\eta(b,a)) d\lambda,$$

$$\text{where } p(\lambda) = \begin{cases} \frac{1}{6}\lambda^2\left(\lambda - \frac{1}{2}\right), & \lambda \in [0, \frac{1}{2}] \\ \frac{1}{6}(\lambda - 1)^2\left(\lambda - \frac{1}{2}\right), & \lambda \in [\frac{1}{2}, 1] \end{cases}.$$

*Proof.* Using definition of  $p(\lambda)$ , we get,

$$\begin{aligned} I &= \int_0^1 p(\lambda) f'''(a + \lambda\eta(b,a)) d\lambda \\ &= \frac{1}{6} \int_0^{1/2} \lambda^2 \left(\lambda - \frac{1}{2}\right) |f'''(a + \lambda\eta(b,a))| d\lambda \\ &\quad + \frac{1}{6} \int_{1/2}^1 (\lambda - 1)^2 \left(\lambda - \frac{1}{2}\right) |f'''(a + \lambda\eta(b,a))| d\lambda. \end{aligned}$$

Integrating by parts, we get

$$\begin{aligned}
 I &= \frac{1}{6} \lambda^2 \left( \lambda - \frac{1}{2} \right) \left. \frac{f''(a+\lambda\eta(b,a))}{\eta(b,a)} \right|_0^{1/2} - \frac{1}{6} \lambda (3\lambda - 1) \left. \frac{f'(a+\lambda\eta(b,a))}{(\eta(b,a))^2} \right|_0^{1/2} \\
 &+ \left( \lambda - \frac{1}{6} \right) \left. \frac{f(a+\lambda\eta(b,a))}{(\eta(b,a))^3} \right|_{1/2}^1 - \int_0^{1/2} \frac{f(a+\lambda\eta(b,a))}{(\eta(b,a))^3} d\lambda + \\
 &\frac{1}{6} (\lambda - 1)^2 \left( \lambda - \frac{1}{2} \right) \left. \frac{f''(a+\lambda\eta(b,a))}{(\eta(b,a))} \right|_{1/2}^1 - \frac{1}{6} (3\lambda - 2) (\lambda - 1) \left. \frac{f'(a+\lambda\eta(b,a))}{(\eta(b,a))^2} \right|_{1/2}^1 \\
 &+ \left( \lambda - \frac{5}{6} \right) \left. \frac{f(a+\lambda\eta(b,a))}{(\eta(b,a))^3} \right|_{1/2}^1 - \int_{1/2}^1 \frac{f(a+\lambda\eta(b,a))}{(\eta(b,a))^3} d\lambda \\
 &= -\frac{1}{24} \frac{f'(\frac{2a+\eta(b,a)}{2})}{(\eta(b,a))^2} + \frac{2}{6} \frac{f(\frac{2a+\eta(b,a)}{2})}{(\eta(b,a))^3} + \frac{2}{6} \frac{f(a+\eta(b,a))}{(\eta(b,a))^3} - \int_0^{\frac{1}{2}} \frac{f(a+\lambda\eta(b,a))}{(\eta(b,a))^3} d\lambda \\
 &= \frac{1}{24} \frac{f'(\frac{2a+\eta(b,a)}{2})}{(\eta(b,a))^2} + \frac{2}{6} \frac{f(\frac{2a+\eta(b,a)}{2})}{(\eta(b,a))^3} + \frac{1}{6} \frac{f(a)}{(\eta(b,a))^3} - \int_{1/2}^1 \frac{f(a+\lambda\eta(b,a))}{(\eta(b,a))^3} d\lambda
 \end{aligned}$$

Change of variable  $x = (a + \lambda\eta(b, a))$  and  $dx = (\eta(b, a)) d\lambda$ , gives

$$\begin{aligned}
 I (\eta(b, a))^4 &= \\
 &\int_a^{a+\eta(b,a)} f(x) dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a + \eta(b, a)) \right].
 \end{aligned}$$

The proof is completed. □

**Theorem 2.** Let the assumption of Lemma 2.1 be satisfied. Then

$$\begin{aligned}
 &\left| \int_a^{a+\eta(b,a)} f(x) dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a + \eta(b, a)) \right] \right| \\
 &\leq \frac{(\eta(b,a))^4}{1152} [|f'''(a)| + |f'''(b)|]
 \end{aligned}$$

*Proof.* Using Lemma 2.1, we get

$$\begin{aligned}
 &\left| \int_a^{a+\eta(b,a)} f(x) dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a + \eta(b, a)) \right] \right| \leq \frac{(\eta(b,a))^4}{6} \\
 &\left\{ \int_0^{\frac{1}{2}} \lambda^2 \left( \lambda - \frac{1}{2} \right) |f'''(a + \lambda\eta(b, a))| d\lambda + \int_{\frac{1}{2}}^1 \left( \lambda - 1 \right)^2 \left( \lambda - \frac{1}{2} \right) |f'''(a + \lambda\eta(b, a))| d\lambda \right\}
 \end{aligned}$$

Using preinvexity of  $|f'''|$ , we get

$$\begin{aligned}
 &\left| \int_a^{a+\eta(b,a)} f(x) dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a + \eta(b, a)) \right] \right| \\
 &\leq \frac{(\eta(b,a))^4}{6} \left\{ \int_0^{\frac{1}{2}} \lambda^2 \left( \frac{1}{2} - \lambda \right) [(1 - \lambda) |f'''(a)| + \lambda |f'''(b)|] d\lambda \right. \\
 &\quad \left. + \int_{\frac{1}{2}}^1 (\lambda - 1)^2 \left( \lambda - \frac{1}{2} \right) [(1 - \lambda) |f'''(a)| + \lambda |f'''(b)|] d\lambda \right\}.
 \end{aligned}$$

By simple calculations of integrals, we get as required. The proof is completed. □

Let the assumption of Theorem 2.2 be satisfied with  $q > 1$ , such that  $p = \frac{q}{q-1}$ . If  $|f'''|^q$  is preinvex, then we get

$$\begin{aligned}
 &\left| \int_a^{a+\eta(b,a)} f(x) dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a + \eta(b, a)) \right] \right| \leq \frac{(\eta(b,a))^4}{48} \left( \frac{1}{2} \right)^{\frac{1}{p}} \\
 &\left[ \frac{\Gamma(2p+1)\Gamma(p+1)}{\Gamma(3p+2)} \right]^{\frac{1}{p}} \left\{ \left( \frac{3}{8} |f'''(a)|^q + \frac{1}{8} |f'''(b)|^q \right)^q + \left( \frac{1}{8} |f'''(a)|^q + \frac{3}{8} |f'''(b)|^q \right)^q \right\}^{\frac{1}{q}}.
 \end{aligned}$$

**Theorem 3.** By using Lemma 2.1 and Holder's inequality, we have

$$\begin{aligned} & \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\ & \leq \frac{(\eta(b,a))^4}{6} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)|^p d\lambda \right)^{1/p} \left( \int_0^{1/2} |f'''(a + \lambda\eta(b,a))|^q d\lambda \right)^{1/q} \\ & \quad + \frac{(\eta(b,a))^4}{6} \left( \int_{1/2}^1 (|\lambda - 1|^2 (\lambda - \frac{1}{2}))^p d\lambda \right)^{1/p} \left( \int_{1/2}^1 |f'''(a + \lambda\eta(b,a))|^q d\lambda \right)^{1/q}. \end{aligned}$$

Here

$$\int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)|^p d\lambda = \int_{1/2}^1 |(\lambda - 1)^2 (\lambda - \frac{1}{2})|^p d\lambda = \frac{\Gamma(2p+1)\Gamma(p+1)}{2^{3p+1}2\Gamma(3p+2)}.$$

Using preinvexity of  $|f'''|^q$ , we get

$$\begin{aligned} & \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\ & \leq \frac{(\eta(b,a))^4}{6} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)|^p d\lambda \right)^{1/p} \left( \int_0^{1/2} [(1-\lambda)|f'''(a)|^q + \lambda|f'''(b)|^q] d\lambda \right)^{1/q} \\ & \quad + \frac{(\eta(b,a))^4}{6} \left( \int_{1/2}^1 |(\lambda - 1)^2 (\lambda - \frac{1}{2})|^p d\lambda \right)^{1/p} \\ & \quad \left( \int_{1/2}^1 [(1-\lambda)|f'''(a)|^q + \lambda|f'''(b)|^q] d\lambda \right)^{1/q} \\ & = \frac{(\eta(b,a))^4}{48} \left(\frac{1}{2}\right)^{\frac{1}{p}} \left[ \frac{\Gamma(2p+1)\Gamma(p+1)}{\Gamma(3p+2)} \right]^{\frac{1}{p}} \\ & \quad \left\{ \left(\frac{3}{8}\right) |f'''(a)|^q + \left(\frac{1}{8}\right) |f'''(b)|^q \right\}^{\frac{1}{q}} + \left(\frac{1}{8}\right) |f'''(a)|^q + \left(\frac{3}{8}\right) |f'''(b)|^q \right\}^{\frac{1}{q}}. \end{aligned}$$

This completes the proof.

**Theorem 4.** Let the assumption of Theorem 2.1 be satisfied with  $q > 1$ , such that  $p = \frac{q}{q-1}$ . Then

$$\begin{aligned} & \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\ & \leq \frac{(\eta(b,a))^4}{6} \left[ \frac{\Gamma(2p+1)\Gamma(p+1)}{2^{3p+1}2\Gamma(3p+2)} \right]^{\frac{1}{p}} \left[ \frac{(|f'''(a)|^q + |f'''(b)|^q)}{2} \right]^{\frac{1}{q}}. \end{aligned}$$

*Proof.* By Lemma 2.1 and Holder's inequality, we have

$$\begin{aligned} & \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\ & \leq (\eta(b,a))^4 \int_0^1 p(\lambda) f'''(a + \lambda\eta(b,a)) d\lambda \\ & \leq (\eta(b,a))^4 \left( \int_0^1 |p(\lambda)|^p d\lambda \right)^{\frac{1}{p}} \left( \int_0^1 |f'''(a + \lambda\eta(b,a))|^q d\lambda \right)^{\frac{1}{q}} \end{aligned}$$

Using preinvexity of  $|f'''|$ , we have

$$\begin{aligned} & \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\ & \leq \frac{(\eta(b,a))^4}{6} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)|^p d\lambda + \int_{1/2}^1 |(\lambda - 1)^2 (\lambda - \frac{1}{2})|^p d\lambda \right)^{1/p} \\ & \quad \left( \int_0^1 [(1-\lambda)|f'''(a)|^q + \lambda|f'''(b)|^q] d\lambda \right)^{1/q} \\ & = \frac{(\eta(b,a))^4}{6} \left[ \frac{\Gamma(2p+1)\Gamma(p+1)}{2^{3p+1}2\Gamma(3p+2)} \right]^{\frac{1}{p}} \left[ \frac{(|f'''(a)|^q + |f'''(b)|^q)}{2} \right]^{\frac{1}{q}}. \end{aligned}$$

By simple calculations, we have

$$\int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)|^p d\lambda = \int_{1/2}^1 |(\lambda - 1)^2 (\lambda - \frac{1}{2})|^p d\lambda = \frac{\Gamma(2p+1)\Gamma(p+1)}{2^{3p+1}2\Gamma(3p+2)}.$$

This completes the proof. □

**Theorem 5.** Let the assumption of Theorem 2.4 be satisfied with  $q \geq 1$ , such that  $p = \frac{q}{q-1}$ . If the function  $|f'''|^q$  is preinvex, then we have

$$\begin{aligned} & \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\ & \leq \frac{(\eta(b,a))^4}{6} \left( \frac{1}{192} \right)^{1-1/q} \left( \frac{|f'''(a)|^q + |f'''(b)|^q}{192} \right)^{\frac{1}{q}}. \end{aligned}$$

*Proof.* Using Lemma 2.1 and power mean inequality, we get

$$\begin{aligned} & \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\ & \leq (\eta(b,a))^4 \int_0^1 p(\lambda) f'''(a + \lambda\eta(b,a)) d\lambda \\ & \leq \frac{(\eta(b,a))^4}{6} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)| d\lambda \right)^{1-1/q} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)| |f'''(a + \lambda\eta(b,a))|^q d\lambda \right)^{1/q} \\ & \quad + \frac{(\eta(b,a))^4}{6} \left( \int_{1/2}^1 |(\lambda - 1)^2 (\lambda - \frac{1}{2})| d\lambda \right)^{1-1/q} \\ & \quad \left( \int_{1/2}^1 |(\lambda - 1)^2 (\lambda - \frac{1}{2})| |f'''(a + \lambda\eta(b,a))|^q d\lambda \right)^{1/q}. \end{aligned}$$

Using preinvexity of  $|f'''|^q$ , we have

$$\begin{aligned}
& \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\
& \leq \frac{(\eta(b,a))^4}{6} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)| d\lambda \right)^{1-1/q} \\
& \quad \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)| [(1-\lambda)|f'''(a)|^q + \lambda|f'''(b)|^q] d\lambda \right)^{\frac{1}{q}} \\
& \quad + \frac{(\eta(b,a))^4}{6} \left( \int_{1/2}^1 |(\lambda-1)^2 (\lambda - \frac{1}{2})| d\lambda \right)^{1-1/q} \\
& \quad \left( \int_{1/2}^1 |(\lambda-1)^2 (\lambda - \frac{1}{2})| [(1-\lambda)|f'''(a)|^q + \lambda|f'''(b)|^q] d\lambda \right)^{\frac{1}{q}} \\
& \leq \frac{(\eta(b,a))^4}{6} \left( \frac{1}{192} \right)^{1-1/q} \left( \frac{|f'''(a)|^q + |f'''(b)|^q}{192} \right)^{\frac{1}{q}}.
\end{aligned}$$

The proof is completed.  $\square$

### 3. SIMPSON TYPE INEQUALITIES FOR PREQUASIINVEX FUNCTION

**Theorem 6.** *Let the assumption of Theorem 2.5 be satisfied with  $q \geq 1$ . If  $|f'''|$  is prequasiinvex, for some fixed  $q \geq 1$  with  $\eta(b, a) \neq 0$ , then we have*

$$\begin{aligned}
& \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\
& \leq \frac{(\eta(b,a))^4}{576} [\{\max |f'''(a)|^q, |f'''(b)|^q\}]^{\frac{1}{q}}.
\end{aligned}$$

*Proof.* Using Lemma 2.1 and power mean inequality, we get

$$\begin{aligned}
& \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\
& \leq \frac{(\eta(b,a))^4}{6} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)| d\lambda \right)^{1-1/q} \\
& \quad \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)| |f'''(a + \lambda\eta(b,a))|^q d\lambda \right)^{1/q} \\
& \quad + \frac{(\eta(b,a))^4}{6} \left( \int_{1/2}^1 |(\lambda-1)^2 (\lambda - \frac{1}{2})| d\lambda \right)^{1-1/q} \\
& \quad \left( \int_{1/2}^1 |(\lambda-1)^2 (\lambda - \frac{1}{2})| |f'''(a + \lambda\eta(b,a))|^q d\lambda \right)^{1/q}.
\end{aligned}$$

Using the prequasiinvexity of  $|f'''|^q$ , we have

$$\begin{aligned}
& \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \\
& \leq \frac{(\eta(b,a))^4}{6} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)| d\lambda \right)^{1-1/q} \\
& \quad \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)| [\{\max |f'''(a)|^q, |f'''(b)|^q\}] d\lambda \right)^{\frac{1}{q}} \\
& \quad + \frac{(\eta(b,a))^4}{6} \left( \int_{1/2}^1 |(\lambda-1)^2 (\lambda - \frac{1}{2})| d\lambda \right)^{1-1/q} \\
& \quad \left( \int_{1/2}^1 |(\lambda-1)^2 (\lambda - \frac{1}{2})| [\{\max |f'''(a)|^q, |f'''(b)|^q\}] d\lambda \right)^{\frac{1}{q}} \\
& \leq \frac{(\eta(b,a))^4}{576} [\{\max |f'''(a)|^q, |f'''(b)|^q\}]^{\frac{1}{q}}.
\end{aligned}$$

The proof is completed.  $\square$

**Corollary 7.** By putting  $q = 1$  in Theorem 3.1, we get

$$\left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \leq \frac{(\eta(b,a))^4}{576} \{ \max |f'''(a)|, |f'''(b)| \}.$$

**Theorem 8.** Let the assumption of Theorem 3.1 be satisfied with  $q \geq 1$ . If  $|f'''|$  is prequasiinvex for some fixed  $q \geq 1$  with  $\eta(b, a) \neq 0$ , then we have

$$\left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \leq \frac{(\eta(b,a))^4}{24} \left(\frac{1}{2}\right)^{\frac{1}{p}} \left[ \frac{\Gamma(2p+1)\Gamma(p+1)}{\Gamma(3p+2)} \right]^{\frac{1}{p}} \left[ \frac{\max\{|f'''(a)|^q, |f'''(b)|^q\}}{2} \right]^{\frac{1}{q}}.$$

*Proof.* By Lemma 2.1 and Holder's inequality, we get

$$\begin{aligned} & \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\ & \leq \frac{(\eta(b,a))^4}{6} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)|^p d\lambda \right)^{1/p} \left( \int_0^{1/2} |f'''(a + \lambda\eta(b,a))|^q d\lambda \right)^{1/q} \\ & \quad + \frac{(\eta(b,a))^4}{6} \left( \int_{1/2}^1 |(\lambda - 1)^2 (\lambda - \frac{1}{2})|^p d\lambda \right)^{1/p} \left( \int_{1/2}^1 |f'''(a + \lambda\eta(b,a))|^q d\lambda \right)^{1/q}. \end{aligned}$$

By using the fact

$$\int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)|^p d\lambda = \int_{1/2}^1 |(\lambda - 1)^2 (\lambda - \frac{1}{2})|^p d\lambda = \frac{\Gamma(2p+1)\Gamma(p+1)}{2^{3p+1}2\Gamma(3p+2)},$$

and prequasiinvexity of  $|f'''|^q$ , we get

$$\begin{aligned} & \left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\ & \leq \frac{(\eta(b,a))^4}{6} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)|^p d\lambda \right)^{1/p} \left( \int_0^{1/2} \max\{|f'''(a)|^q, |f'''(b)|^q\} d\lambda \right)^{1/q} \\ & \quad + \frac{(\eta(b,a))^4}{6} \left( \int_{1/2}^1 |(\lambda - 1)^2 (\lambda - \frac{1}{2})|^p d\lambda \right)^{1/p} \left( \int_{1/2}^1 \max\{|f'''(a)|^q, |f'''(b)|^q\} d\lambda \right)^{1/q} \\ & = \frac{(\eta(b,a))^4}{24} \left(\frac{1}{2}\right)^{\frac{1}{p}} \left[ \frac{\Gamma(2p+1)\Gamma(p+1)}{\Gamma(3p+2)} \right]^{\frac{1}{p}} \left[ \frac{\max\{|f'''(a)|^q, |f'''(b)|^q\}}{2} \right]^{\frac{1}{q}}. \end{aligned}$$

The proof is completed.  $\square$

**Theorem 9.** Let the assumption of Theorem 3.3 be satisfied with  $q \geq 1$ . If  $|f'''|$  is prequasiinvex for some fixed  $q \geq 1$  with  $\eta(b, a) \neq 0$ , then we have

$$\left| \int_a^{a+\eta(b,a)} f(x)dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \leq \frac{(\eta(b,a))^4}{6} \left[ \frac{\Gamma(2p+1)\Gamma(p+1)}{2^{3p+1}2\Gamma(3p+2)} \right]^{\frac{1}{p}} \left[ \frac{\max\{|f'''(a)|^q, |f'''(b)|^q\}}{2} \right]^{\frac{1}{q}}.$$

*Proof.* Using Lemma 2.1, Holder's inequality and prequasiinvexity of  $|f'''|$ , we get

$$\begin{aligned} & \left| \int_a^{a+\eta(b,a)} f(x) dx - \frac{\eta(b,a)}{6} \left[ f(a) + 4f\left(\frac{2a+\eta(b,a)}{2}\right) + f(a+\eta(b,a)) \right] \right| \\ & \leq (\eta(b,a))^4 \left( \int_0^1 |p(\lambda)|^p d\lambda \right)^{\frac{1}{p}} \left( \int_0^1 \max\{|f'''(a)|^q, |f'''(b)|^q\} d\lambda \right)^{\frac{1}{q}} \\ & \leq \frac{(\eta(b,a))^4}{6} \left( \int_0^{1/2} |\lambda^2 (\frac{1}{2} - \lambda)|^p d\lambda + \int_{1/2}^1 |(\lambda - 1)^2 (\lambda - \frac{1}{2})|^p d\lambda \right)^{1/p} \\ & \quad \left( \int_0^1 \max\{|f'''(a)|^q, |f'''(b)|^q\} d\lambda \right)^{1/q} \\ & = \frac{(\eta(b,a))^4}{6} \left[ \frac{\Gamma(2p+1)\Gamma(p+1)}{2^{3p+1}2\Gamma(3p+2)} \right]^{\frac{1}{p}} \left[ \frac{\max\{|f'''(a)|^q, |f'''(b)|^q\}}{2} \right]^{\frac{1}{q}}. \end{aligned}$$

The proof is completed.  $\square$

#### REFERENCES

- [1] M. Alomari and M. Darus, *On some inequalities of Simpson-type via quasi-convex functions and applications*, *Transylvanian Journal of Mathematics and Mechanics*, **2**, No. 1 (2010) 15-24.
- [2] M. Alomari, M. Darus and S.S. Dragomir, *New inequalities of Simpson's type for s-convex functions with applications*, *RGMI Res. Rep. Coll.*, **12**, No. 4 (2009).
- [3] T. Antczak, *Mean value in invexity analysis*, *Nonlinear Analysis*, **60**, (2005) 1471-1484.
- [4] A. Barani, S. Barani and S.S. Dragomir, *Simpson's type inequalities for functions whose third derivatives in the absolute values are P-convex*, *RGMI Res. Rep. Coll.*, **14**, (2011) Preprints, Article 95.
- [5] A. Barani, A.G. Ghazanfari and S.S. Dragomir, *Hermite-Hadamard inequality for functions whose derivatives absolute values are preinvex*, *RGMI Research Report Collection*, doi:10.1186/1029-242X-2012-247.
- [6] A. Ben-Israel and B. Mond, *What is invexity*, *J. Austral. Math. Soc., Ser. B*, **28**, No. 1 (1986) 1-9.
- [7] S.S. Dragomir, R.P. Agarwal and P. Cerone, *On Simpson's inequality and applications*, *Journal of Inequalities and Applications*, **5** No. 6, (2000) 533-579.
- [8] M.A. Hanson, *On sufficiency of the Kuhn-Tucker conditions*, *J. Math. Anal. Appl.* **80**, (1981) 545-550.
- [9] S. Hussain and S. Qaisar, *New integral inequalities of the type of Hermite-Hadamard through quasi convexity*, *Punjab University Journal of Maths.*, **45**, (2013) 33- 38.
- [10] Z. Liu, *An inequality of Simpson type*, *Pro. R. Soc. London. Ser. A*, **461**, (2005) 2155-2158.
- [11] S.R. Mohan and S.K. Neogy, *On Invex sets and preinvex function*, *J. Math. Anal. Appl.* **189**, (1995) 901-908.
- [12] M.A. Noor, *On Hadamard integral inequalities involving two log-preinvex functions*, *J. Inequal. Pure Appl. Math.*, **8**, No. 3 (2007) 1-14.
- [13] M.A. Noor, *Invex equilibrium problems*, *J. Math. Anal. Appl.*, **302**, (2005) 463-475.
- [14] M. A. Noor, *Variational-like inequalities*, *Optimization*, **30**, (1994) 323-330.
- [15] R. Pini, *Invexity and generalized convexity*, *Optimization*, **22**, (1991) 513-525.
- [16] S. Qaisar, C. He and S. Hussain, *A generalizations of Simpsons type inequality for differentiable functions using  $(\alpha, m)$ -convex functions and applications*, *Journal of Inequalities and applications*, **158**, No. 1 (2013), 13 pages .
- [17] S. Qaisar, S. Hussain and C. He, *On new inequalities of Hermite-Hadamard type for functions whose third derivative absolute values are quasi-convex with applications*, *Journal of the Egyptian Mathematical Society*, **22**, (2014) 19-22.
- [18] M.Z. Sarikaya, E. Set and M. E. Ozdemir, *On new inequalities of Simpson's type for s-convex functions*, *Comput. Math. Appl.* **60**, (2010) 2191-2199.
- [19] K.L. Tseng, G.S. Yang and S.S. Dragomir, *On weighted Simpson type inequalities and applications*, *RGMI Res. Rep. Coll.*, **7**, No. 1 (2004) Article 17. X.M.
- [20] T. Weir and B. Mond, *Preinvex functions in multiple objective optimization*, *Journal of Mathematical Analysis and Applications*, **136**, (1998) 29-38.
- [21] S.H. Wu, *On the weighted generalization of the Hermite-Hadamard inequality and its applications*, *Rocky Mountain J. of Math.*, **39**, No. 5 (2009) 1741-1749.
- [22] X.Q. Yang and K.L. Teo, *Characterizations and applications of prequasiinvex functions, properties of preinvex functions*, *J. Optim. Theo. Appl.*, **110**, (2001) 645-668.



- [23] X.M. Yang and D. Li, *On properties of preinvex functions*, *J. Math. Anal. Appl.* **256**, (2001) 229-241.